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Module jrtr M L C

Q.l a. Explain the classification of electrigri _ffi&twor16.
's t :1!

8 L2 col

b. For the network shown in Fig.tffiS), find the current throdgh'load resistor
'R' rrsins loon analvsis'R'using loop analysis. ,,''q 
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,i,sarr...

qdh, ,^
",,-. ;seie al$t{
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6 L3 col

c. For the rBtw$rk shown in Fig. Ql(cli-flffid the equivalent
betweeofu.tiirminals A - B using Star= Dblta transformation.

resistance

ri':,rilr,

.:i:t;ij;li"i.

Fig. Ql(c)

6 L3 col

oR* * l*"
Q.2 a. Derive an eqi'f"*s'sion for the equiv;ffimpedances betwe-enthe terminals

for Delta - Star transformation. 4,* * 
'

1r^

6 L2 col

b. Use rrrcd*l analysis to find.1@,'&r{liie of voltage 'V*' "iu the circuit shown in 7 L3 col

c. Determinti,.,,the current through l2O resistor shown m Fig. Q2(c), using
Source Shifting / Transforinption method.
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Module - 2 l

Q.3 L.

b.

Using Superposition theorem,
in Fig. Q3(a).

obtain the current I' shown

Fie. Q3(a)
J19^
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Using Millman's theoremlffilOit
circuit shown in Fig. Q3tb).s W
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the current through*thE load in the
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Q.4 a. State and explain Norton's theorem.
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6 L2 co2

b. Fo. th" network sho*rr-ik$iE. Q4(b), find the wrt*Bnt through

using Thevenin's theoiest ,;

16C) rtliistor
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7 L3 co2

c.

/;4

for which 7 L3 co2

r.r6s:i:i:qr Modute _ 3

Q.s a. Explain the initial an$ fital conditions in basic elements.

\r

6 L2 co3
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b. For the circuit shown in Fig. Q5(b), the switch 'K' is chgnffi,ffhe position
from I to 2 at t : 0. Steady state condition has been reffiffiat position 1.

Findthevalueof i, #, # "t=o*. *flrW*"Y"ttu. $L
ffie. .r'H.

Y!.'..i.+,,i. ""i:'.''"i lOJL
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Fie. QsO)

8 L3 co3

c. Obtain an expression for t@1ry-dt response i(t) of a series R * L circuit
when excited by DC supply.

6 L2 co3

i :i+; '
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Q.6 a. l0 L3 co3

b.

,a*

l0 L3 co3

Module -:f
Q.7 n. State and prove\giffial Value Theorem.

'i!;i ir
6 L2 co3

b. Find the,f&p,,,qe Transform of &Sg€riodic waveform shown in Fig. Q7O) 8 L3 co3
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c. @rmine the current i(t) in Fe qcilit shown in

fig. QZ(i), when the switch 'S' is closed at t = o:..l *qqffle zero initial

conditions. :.'.8,='-
::.:

Fig. Q7(c) ,.-,..,,.,**llir

,tr.,,i:::::::r:::':

6 L3 co3

Q.8 a. State and prove differentiate by.;, '
H! gir

property. 6 L2 co3

b. the switch is closed at*t: 0. Obtain the

^*--^..;^- f^. +La nrrranfexpression for the cuneqt, d
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6 L3 co3

c. ObtainJffi,{"dplace

.dl'i 'qlliru

.+;_ :

Fig. Q8(c)

Transform of the sqllargwave shown in Fig. Q8(c). 8 L3 co3

ffi-s
Q.e a. What assGpedance and H$@pai[meters? Deriye,::f.ffiexpression for the,},samgj=ryy.+1 .,".i.k#- ',*t]":

It".:lj;s&.' .&*. fufl

8 L2 co4

b. SqriE a" CI.fisioa*ffi;'Transmission_'pprfmeters interms of Z -
gdrameters ,,:..; w #;:rT

5 L2 co4

For the circuit thffiffi Fig. Q9(c), fin$Y: parameters.

*,t-..nitu I {
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Fie. Q9(c)

I

7 L3 co4

OR

Q.10 a. Derive an expfrffidion for bandwidth of a series Resonant circuit. 7 L2 co5
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b. A series RLC circuit consists of a resistance of I ka ard dffiiritluctance of
l00mH in series with capacitance of 10PF connected ffiw100V supply.

Determine i) Resonant frequency ii) Quality fadffi%* iii) Maximum

current in the circuit iv) Bandwidth v) HffibWCr frequencies

v) Selectivity factor. *MI+

7 L3 co5

c.

g. Q10(c)

6 L3 co5
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